Please look for additional information below. 
Exercise 1.1

Trace the action of the left-to-right binary method to compute:

 

a. x123
 

b. x64
 

c. x65
 

d. x711 

 

Exercise 1.2:

Repeat Exercise 1.1 for the right-to-left binary method.

For your information:

The following pseudocode for the function Powers that computes xn for a general positive integer n is a straightforward implementation of the right-to-left binary method. If s = [log2n] and p = 2s, then xn = 

xpxn-p. The while loop in Powers computes xp by simple squaring (using the variable Pow) and computes xn-p by using the variable AccumPow to accumulate the factors of xn-p based on whether the current value of n is even or odd (note that repeatedly replacing n by floor (n/2) amounts to performing a right-to-left scan of the binary expansion of n).

function Powers(x, n)
Input:     x(a real number), n(a positive integer)
Output: xn

    AccumPow ( 1
    Pow ( x

    while n > 1 do

        if odd(n) then AccumPow ( AccumPow*Pow endif

        n ( floor(n/2)

        Pow ( Pow*Pow

    endwhile

    Pow ( AccumPow*Pow 

    return(Pow)

end Powers

It turns out that Powers is the iterative version of a recursive method based on the formula 

x2 = {(x2)n/2 n even; x(x2)(n-1)/2n odd
